NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY

TO BATTERY/POWER SUPPLY VOLTAGE. M10 x 1.5 TAP, ¥ 21.0, 2 HOLES
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC 'ESESSETSSEﬁgEAE\}(EEB%IéE%
CONTROL SYSTEMS OR MODULES.

FOR LIFTING MARINE

TRANSMISSION ONLY.
B. MANUAL OVERRIDE VALVE OPERATION

1. THE MANUAL OVERRIDE FEATURE FOR THE PRIMARY
AND SECONDARY SOLENOIDS MUST NEVER BE ENGAGED
SIMULTANEOUSLY.

2. ROTATE THE MANUAL OVERRIDE SCREW COUNTER-
CLOCKWISE UNTIL THE SCREWS STOPS FOR THE
NEUTRAL POSITION

3. THE MANUAL OVERRIDE SCREWS FOR BOTH THE PRIMARY
AND SECONDARY SOLENOIDE MUST BE IN TEH NEUTRAL
POSITION TO OPERATE THE VALVE UTLIZING THE TWIN
DISC CONTROL SYSTEM.

4. TO ENGAGE PRIMARY CLUTCH TURN THE PRIMARY
OVERRIDE SCREW IN A CLOCKWISE DIRECTION UNTIL THE
SCREW STOPS TURNING.

5. TO ENGAGE SECONDARY CLUTCH TURN THE SECONDARY
OVERRIDE SCREW IN A CLOCKWISE DIRECTION UNTIL THE
SCREW STOPS TURNING.

C. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR PRESSURE
AND TEMPERATURE ALARM LEVELS.

X OPTIONAL TEMPERATURE INDICATING SWITCH:
CUSTOMER TO INSTALL IN A PIPE TEE IN
THE HYDRAULIC LINE LEADING FROM THE
MARINE TRANSMISSION PUMP TO THE HEAT
EXCHANGER INLET.REFER TO HYDRAULIC DIAGRAM.

OIL LEVEL GAUGE

INPUT GROUP REFERENCE PLANE

,/“—:')W»mﬁég’.
- @,

PTO ADAPTER MOUNTING FACE

T

LEFT MOUNTING BRACKET FACE T

~WN -

RIGHT MOUNTING BRACKET FACE 0 \J

OIL FILL PORT
M22X1.5 METRIC PORT

MANUAL OVERRIDE

—~ 278.6 -

—~ 269.6 —— 296.0 -

- 448.3 -

— 166.1 - —~ 296.3 -
SAE #1 PER .

SAE J617\

ENGAGES PRIMARY CLUTCH
| N\ SEE NOTES A &B

PRIMARY CLUTCH (FIRST) ‘ |

PRESSURE PORT ‘

M14x1.5 METRIC PORT S
CONFORMS TO ISO 6149 \

TIGHTENING TORQUE 20+2 Nm

PRIMARY CLUTCH (SECOND)
PRESSURE PORT

ENGAGES SECONDARY CLUTCH
SEE NOTES A &B

BREATHER \

INPUT SPEED SENSOR PORT |
5/8-18UNF-2B THD. \||

SECONDARY CLUTCH (FIRST)

TARGET WHEEL 51 TEETH IR i PRESSURE PORT M14x1.5 METRIC PORT :
CONFORMS TO ISO 6149 |
1 M14x1.5 METRIC PORT ’ TIGHTENING TORQUE 20+2 Nm o
: CONFORMS TO ISO 6149 * ‘
] TORQUE TO 202 Nm |
| ~ ‘ : |
! T} ‘ |
: — = = @ - -, s B - N ‘-l:\ﬁ\ ‘ g e %\ | |
S ‘ « \ RN~ O _EEEEES NN OV N |
| LUBE PRESSURE | A2 " 0 / "\ \ 0\‘ /5 |
—— w M14X1.5 METRIC PORT X . A \ I o < ‘ | |
l | \ CONFORMS TO ISO 6149\ | \ 0/ & ¥ \m \ HrWIN i'%\\“‘?‘%\&! | | i
. - - - - TIGHTENING TORQUE: 20+2 Nm I — ~ : - L + TN LL LA SSES @ S | R SEET REER T
© |
Oj. |
(q\]

I

& ‘
‘I.V - ON T ‘
(| | SN 7

|| /’ = . / i I :
- \ 7 S O | o
~ ~ - - Y ‘ [
T — A :::::::J/S* o | OIL INLET FROM HEAT - / Q Q - — = % ‘ ] |
; e ol ; EXCHANGER A - , < I \. | |
© -— - —- 1 ‘ 1/2-14 NPTF THEAD (DRYSEAL) v — | — o ~ > N e | I
= | Foie— e ] : REMOVE THREAD PROTECTOR { ) +— () , © I |
e ) - — -1 g BEFORE OPERATING UNIT. -\ ‘ S \ l ST = ‘
**—_**—_**—_’/ ] | |
o S R N - o= 10 O 4 P N e M
L : 77774 \ { o \ o /V@%/// \\\ \ o :
I A -\ | \ y 7 - // \\ L) N ‘
- Q| =" Vs Of fif DN @, 5 8 : il
] / N // \\ ) ) - u |
———--— - D X OIL PUMP OUTLET TO HEAT EXCHANGER \ o O ~N | 1L DN | = 4 © %5 Rl o
—— B B 3/8-18 NPTF THREAD (DRYSEAL) ) . . T ' N $ I Q= - = ] ‘
Val R B CONFORMS TO J476 \ | — - | T8 oY =N - - M ;
TIGHTENING TORQUE 27 +3 Ibf-ft. ——@-- O\ f / < % = 1l S ]
S B REMOVE ALUMINIUM THREAD PROTECTOR 1) | K / Y, : / OUTPUT SPEED S 1| B I
g * PRI i ' // | D // / O ONHLE SENSOR BRACKET = T :
o B N N = _ y, 4 N H —= |
B AR ) - ’ , ~ T / \f TARGET WHEEL: 62 TEETH T H [ o
! ‘ S / \ S _= / I u — i |
I - — = — | \ ~ | —— I I s H ph | I
S — —— N N1 « : -
i AN — N— _ _ “ H - [ |
S| R || ) \\\\\ D \\\ ¢ < ATV NG ! == — I o
e S R R nNg > \ / \\_\/ o Y = [
o ——r——-- @ | SECONDARY CLUTCH (SECOND) Sl ~_ - T L RS |
- @E ] MAIN PRESSURE PORT PRESSURE PORT S TN T e 6X®18.45 THRU
T N——— == M14x1.5 METRIC PORT M14x1.5 METRIC PORT = b {\_-—% HOLES EQUALLY SPACED 39 olla
[ N - CONFORM STO ISO 6149 CONFORMS TO ISO 6149 ==t s e
- TIGHTENING TORQUE 20+2 Nm TORQUE TO 2042 Nm SET T
- r
15.8 —= =
MOUNT GAGE IN PILOT
M16X2 TAP T 35.0 HOUSE. PRESSURE GAGE @
LINE LOCATION.
TWO DRSS A5 2HOWN. 1/4-18NPTF GAUGE THREAD (DRYSEAL) FOR AHEAD PROPULSION
WITH R.H. ENGINE DRIVING - _
USE ALL EIGHT(8) HOLES ~ 16.7 —=—=1= 889 —— REMOVE THREAD FROTECTOR THRU PRIMARY SHAFT - 312.6 - 483 =
FOUR(4) PER SIDE FOR MOUNTING. BEFORE OPERATING UNIT. OIL STRAINER :
USE GRADE 8.8 PROPERTY CLASS
AND TORQUE TO S574 OR SERVICE = : T : -
MANUAL VALUES.
SUMP DRAIN PLUG
7/8-14UNF TAPPED
CONFORMS TO SAE J1926
TIGHTENING TORQUE 40 +5 Ib-ft
A [ECNWF-23475] 04/17/2013
REV CHANGE NO. DATE
ENGX 50655C PER PX12410 SERIES FIRST USE ASSEMBLYPX12410A gy o /AR ] MATERIA P
- GP VALVE WITH EC050 CONTROL MODULE FIRST USE MODEL MGX-506955C | e : \Q/ [ PROJECTION e
- SAE #1 HOUSING ADAPTER SIMILAR T0: 1026215 ' o HEAT TREAT 1:2 RACINE, WI 53403 - USA
METRIC S e S 5
T R T T ST o OESCRPTION EOME 1026371
TWIN DISC, INCORPORATED A T N G INSTALLATION APPROVED BY: |DWG SHEET: REV:
GRANTED TG THE U5, GOVERNVENT OK OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-5065SC ALC  SZE AO 10F1] A

J I H G F E D C | B | A




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5


